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Here are the first 4 terms in a number sequence.

124 127 130 133

(a) Write down the next term in this number sequence. l r?) C)
(1}
(b) Wrte down a formula for the nth term in this number sequence.
el
(2}
(¢) Celeulate the 900™ term in this number sequence.
2] £ 30 - 9% ?\\
(1
1652 cannot be a term in this number sequence. o i~
A e, 130 ao
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(¢}  Explain why. ’ﬁ 1697 = 121+43n Jviskl b 2 bk
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Three woman earned a total of £36,000
They shared the £36,000 in the ratic 7:3:2
Rose received the largest amount.

(&) Work out the amount Rose received.

734171
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3. Brass is made up of copper and zinc. Every 100 grams of brass contains 20 grams of zine.

Work out the weight of zine in 60 grems of brass.
foes S — .
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4. A piece of alumininm has volume 180cm® . Aluminium has a density of 2.6g/cm’.

/‘»,\_ i
(a) Write down a formula that connects density, mass and volume. '

........................... o
(b) Find the mass of the piece of Aluminiuvm
2 b= M
7O w0 4D
~ ¢ (g ........................... E
5. Solve
(a) 3x+16=4
X7
.......................... o
(h) 4(x+T)= 38
CxX4)=9
o T
........................... o

Alleyn's School



6. Nicola invests £5100 for 7 vears at 2% per anmum compourd interest (i.e. at the end of every

vear the money in the bank is increased by 2%)

(a) How much money does she have at the end of the first year 7

SO0 % [-07

(o)  Use your answer to part (a) to work out how much money she has at the end of the

second year ?

5907~ 0')

(d) How much money Goes she have at the cnd("of 17 years (to the nearest penny) ?

7
SIE0 x 1-02
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7, Bill buys 2 new machine. The value of the machine drops in a year by 22% to £3042.

What was the cost of the new machine ?

Toir rowx D78 =304,

ok o = 257

oL

8. A school snack bar offers 2 choice of four snacks.

The four snacks are burgers, pizza, pasta and salad.

Students can chooss one of these four snacks,

The table shows the probability that a student will choese burger or pizze or selad.

Sneclk | burger

pizza

pasia

Probability 0.35

G.15

300 students used the snack bar on Tuesday.

Work oul an estimate for the nember of students who chose® ’

390 <019
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9, Ron came back from Spain with some money left over.

The exchange rate is £1 = €1.13

How many pounds is €2000 worth (to the nearest penny)?
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10, (1) We are 300,000,000,600,000,000,000 kilometres from the centre of our galaxy (The
Milky Way). How far is that when written in standard form (in kilometres) 7
20
2%10° ky
(2}

(iii) The mass of 2 proton is 1.672621 637x107% kg. In standard form, what is that mass to 1
significant figure (in kg) ?

B 2407 kg
;_ 12)
1T, i 1.3 '

Show your working to calculate 7— +£_
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12. Show your working to convert the recurring decimal 0.29 16 2 fraction,
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13, (a) Find the HCE of 102 and 60 v
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() Find the LCM 6£90 and 60 /
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14,

36°
A D

Diagram NOT accurately drawn

The diagram shows a circle centre O.
A, B and C are points on the circumference.

DCO is a straight line.
D4 is atangent to the circle.

Angle ADO = 36°

(a)  Till in the missing number in this sentence

“Angle between a tangent and a radius 18 q O Lo

8

(b}  Work out the size of angie A0D.

180-90-34 -
___________ o4
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15, 4, B, Cznd D are points on the circumference of a circle.

AC is a diameter of the circle. Angle BAC = 65°

Not drawn accurately

-(a) Write down the value of x. é 5

(b) Give a reagon for your answer
,,J‘{; v ALY /" /fs {’l«\f

Ty A Y SWS@W .......... g

"ﬁ@‘, (c) Write dowm the size of angle ABC

(d) Give a reason for your answer

(e) Calculate the value of y.

150 -5 10 _ °
25 ................. )
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16. The diagram shows z cyclic quadrilateral ABCD.
The straight lines B4 and CD are extended and meet at E.

Ed=AC Argle 4BC=3x" Angle ADC=9x" Angle DAC=2x°

Not drawn accorately

(i} Fill in the missing words in this sentence

angles in a cvelic guadrilateral ... e T to 180 degrees.”

(1)

(ii) Calculate the value of x o
Yo 2C 7 \%@
Vet
n @/ Y

'L

....................................................... (3)

(21} C'r_;lculate the size of angle EAD.
ACD =V -1%5-70=9.
ADE- 180 -/35% #5
[EAD= 180-1515 ° RO .

.......................................................
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17. (&) Plotthe line y=3-0.5x%

9=3
1 L
~ =0 :52\
= 1 2 3 4 5 5 7 B
(2}
(b) A straight line L is parallel to y = 3 — 0.5x and passes through the point {4.2).
Find the eguation of line L.
ﬂ = Q e 0“ 5 DC
hadl 9=(- O SXF
2=C-2
- 4-C.
= Zf - 0 ‘ 99(
................................ "
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18.

5 C
Diagram NOT
accurately drawn
B
D
1[4
0 3
ABCD is & rectangle.
A is the point (0, 1},
C is the point (0, 6},

The equation of the straight line through 4 and Bisy=2x 7 1

Find the equation of the straight line through I and C.

3;%@%

19.  Simplify fully

()  2(3x+4) - 3(4x—3) él‘f@ 121 {'\S

.................................................

./[ ; (2)
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~Section B (1)

23+1.05
1) Write down the answer to T3 correct to 3 sigm'fica%lt figures.

2) (a) What is the gradient of the line 2y = x + 47
i
- -

(b) Write down the equation of a different line with the same gradient.

|
AnswerJ—Lx+C(1)

3) (a) Factorise x>+ 7x + 10

............................

(b) Hence, solve x* + 7x + 10 =0

4) {a) When factorised, 24 can be written as 2% X 3%, Calculatea + b.

L4
/ N\ 3
L ‘/L\ :2?‘3
Z 6

VAR

R

Answer:a+b..... 4 ........... Q)
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(b) What is the smallest number 24 must be multiplied by to make it a square number?

Lg = )z 2 )

5) (a) When I bought my first car it was worth £3200. It has since lost 15% of its value.
What is it worth now? '

AL00x 0 .8S

(b) At the same time my friend bought a classic sports car which increased by 15% to
£7360. What did he pay for it originally?

R x 1S = F360

w= 3340
LS

............................

6) Ihave a biased dice which I threw 2000 times and recorded the scores as follows:

Score 1 2 3 4 3 6
Frequency 200 400 600 400 100 300

() Based on these results, what is the probability that I will roll'a 3 on my next throw?

. 5
()= 2o ° % 3

(b) If I were to roll the dice another 100 times, how many 6s do you think I would get?

{’(0
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7) What is 0.72 as a fraction in its lowest terms?

® ‘."-O";]"L
lm-\:?‘"}?' ",} L —.(6:-
PR n= an Answer:..... b\ (2)

8) The following table shows the number of siblings each person in a Year 10 class has:

Siblings Frequency
0 4
1 6
2 3
3 2

(a) What is the mode?

(b) What is the range? ;ﬁu s wmﬁ _ '3
"hd/:a (_Wru)«j ANSWETT. ..t (1)

(c) What is the median?

(d) What is the mean?
Oxk +xb+lx3+4x2 . |§

-
a——

s Y

A new pupil joins the class and she has 2 siblings. What effect will this have on the mean?
Give a reason for your answer.

9) Make x the subjectofa —x? = b

a-b=xt




